Worksheet: 1_Dash-does-BridgeWork.doc

Dash Learns About Bridges

Problem
Dash and his classmates investigate the strength of some bridges made of paper, using different layers of paper as bridges of different strengths, and number of pennies as different loading conditions.  The following table shows the data they collected before each paper-bridge collapsed under the weight of the pennies.

	Thickness (Paper Layers)
	Breaking Weight (Pennies)

	1
	9

	2
	16

	3
	24

	4
	34

	5
	42


a) Describe the pattern of change that you see in the data as the number of paper layers is increased.  

b) Design a spreadsheet with this table and create an XY scatter plot of only the data plots (without a line connecting the data plots).

c) What pattern of change does this scatter of data points look like?

d) Create a trendline for the data:

· Using the Chart(Add trendline feature to add a trendline to your scatterplot chart.  

· Select the type that best fits your data.  

· Then under Options select the option to Display equation on chart.

e) 
How does the trendline fit your data?  What does this mean? 

· Use the trendline from the chart to predict the number of  pennies needed for a bridge with 6 layers of paper to fail.  

· Use the trendline equation to predict the number of  pennies needed for a bridge with 6 layers of paper to fail.  

· Use either the chart or the equation to predict the results for 7 layers of paper.

e) Suppose you could use half-layers of paper to build the bridges.  What breaking weights (measured in number of pennies) would you predict for bridges 2.5 layers thick and 3.5 layers thick?  Explain your reasoning.

